

# Mathematics 11U

## 4.4 – Algebraic Expressions

Mr. D. Hagen

$$1. \frac{(n^{-4})(n^{-6})}{(n^{-2})^7}$$

$$= \frac{n^{-10}}{n^{-14}}$$

$$= n^{-10 - -14}$$

$$= n^4$$

$$2. \frac{(-2x^5)^3}{8x^{10}}$$

$$= \frac{-8x^{15}}{8x^{10}}$$

$$= -x^5$$

$$\frac{(4r^{-6})(-2r^2)^5}{(-2r)^4}$$

$$= \frac{(4r^{-6})(-32r^{10})}{16r^4}$$

$$= \frac{-128r^4}{16r^4}$$

$$= -8$$

$$\frac{\sqrt[6]{(8x^6)^2}}{\sqrt[4]{625x^8}}$$

$$= \frac{\sqrt[6]{64x^{12/6}}}{\sqrt[4]{625x^{8/4}}}$$

$$= \frac{2x^2}{5x^2}$$

$$= \frac{2}{5}$$

$$\frac{(mn^3)^{-\frac{1}{2}}}{m^{\frac{1}{2}}n^{-\frac{5}{2}}}$$

$$= \begin{array}{|c|c|} \hline m^{-\frac{1}{2}} & n^{-\frac{3}{2}} \\ \hline m^{\frac{1}{2}} & n^{-\frac{5}{2}} \\ \hline \end{array}$$

$$= m^{-\frac{1}{2}-\frac{1}{2}} n^{-\frac{3}{2}+\frac{5}{2}}$$

$$= \frac{m^{-1} n^{2/2}}{1} = \frac{n^1}{m^1}$$

$$\sqrt{\frac{9b^3(ab)^2}{(a^2b^3)^3}}$$

$$= \sqrt{\frac{9b^3(a^2b^2)}{a^6b^9}}$$

$$= \sqrt{\frac{9a^2b^5}{a^6b^9}}$$

$$= \sqrt{\frac{9}{a^4b^4}} = \frac{3}{a^2b^2}$$